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= = S 3 N & B S 3 N F| 5 = THHVE = AN = | =
7 100kN/mMZE#BZ25| 1.00 1000 ~ 042 10618 |3mEBZB| — ~ — — — | 100kN/miZEEZS | 1.00 | 1075 ~ 1200 10618 |3mEEA% — ~ — — —
zhils 1.00 042 ~ 820 100.00 | Fhs | 0.00 ~ 820| 2.09 10.56 zhst 1.00 | 500 ~ 1075| 100.00 | Ths | 500 ~ 1200| 2.09 10.56
2 100kN/mM%E#BZ5| 1.00 | 000 ~ 167 12562 |3m&EBZE| — ~ — — — | 100kN/mMiZEEZ 2| 1.00 | 1082 ~ 1650 12562 |3mEBAZS — ~ — — —
zhils 1.00 | 167 ~ 946 100.00 | Fhst | 0.00 ~ 946 | 2.51 12.69 zhst 1.00 | 500 ~ 1082 100.00| Fhs | 500 ~ 1650| 2.51 12.69
3 100kN/mMZE#BZ5| 1.00 1000 ~ 172\ 12644 |3mEBZB| — ~ — — — | 100kN/miZEEZ5 | 1.00 | 1060 ~ 1650 12644 |3mEEBAZS — ~ — — —
Fhils 1.00 | 1.72 ~ 951 100.00 | Fhs | 0oo ~ 951 | 244 12.34 zhst 1.00 | 500 ~ 1060| 100.00 | Fhls | 500 ~ 1650| 2.44 12.34
4 100kN/mM%E#BZ5| 1.00 1000 ~ 189 129.04 |3mEBZZ| — ~ — — — | 100kN/m%EEEZ 5| 1.00 | 1055 ~ 1730 129.04 |3mEBZS — ~ — — —
Fhils 1.00 189 ~ 967 100.00| Fhst | 0.00 ~ 967 2.41 12.19 zhst 1.00 | 5,00 ~ 1055| 100.00| Fhs | 500 ~ 1730| 2.41 12.19
5 100kN/mM%E#BZ5| 1.00 1000 ~ 115\ 11751 |3mEBZB| — ~ — — — | 100kN/M%x#z2% | 1.00 | 1053 ~ 1410 117.31 |3mEEZS — ~ — — —
Fhilst 1.00 ) 115 ~ 893 100.00 | Fhs | 000 ~ 893 2.19 11.06 Thst 1.00 | 500 ~ 1053 100.00 | Fhls | 500 ~ 1410| 219 11.06
g 100kN/mZE#BZ5| 1.00 1000 ~ 087 11304 |3mEBZZ| — ~ — — — | 100kN/M&# 25| 1.00 | 1055 ~ 1310 113.04 |3mEEZS — ~ — — —
Fhils 1.00 1087 ~ 866 100.00| Fhst | 0.00 ~ 866|222 11.24 zhst 1.00 | 500 ~ 1085 100.00 | Fhst | 500 ~ 1310| 2.22 11.24
- 100kN/ Mm% 25 — - ~ — —|3mZEBZD - ~ — — — | 100kN/m%E#8Z 3% — - ~ — — | 3mZEB 2D - ~ — — —
ZFhilst 1.00 1 000 ~ 477 59.50 | #hds | 000 ~ 000| 1.71 8.66 zhilst 1.00 | 5.00 ~ 5.00 59.50 | Thst | 6.00 ~ 500 | 1.71 8.66
100kN/ Mm% 25 ~ ImEBAZD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% 25 ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EB %5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/M#EBZ5 ~ ImEBAS ~
zh st ~ zh st ~ zh st ~ Zzh st ~
100kN/ Mm% B Z % ~ ImEBAD ~ 100kN/M#EBZ 5 ~ ImEBAS ~
zh st ~ zh st ~ zhn st ~ Zzh st ~
100kN/ Mm% Z % ~ InEHBZD ~ 100kN/M%EBZ5 ~ ImEHBZD ~
zh st ~ zh st ~ ZznLst ~ zh st ~
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